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Assistant Professor Exam - 2017

(Model Answer Key)

Commerce

Q1 : The time duration of Fourth Five Year Plan in our country was

30 <=1 § g Uaada Ao &t IHarafy o -

1966-1971

1966-1971

1969-1974

1969-1974

1970-1975

1970-1975

1967-1972
D

1967-1972

Answer Key: B

Q2 : The prime objective of economic activities is :

Political Advantage

RSEIREAIE

Environment Improvement

qafeRor gUR

Profit Earning

ATH 3ot

Social Development

D

oS AN

Answer Key: C

Q3 : ‘Life Expectancy’ term is used for:

SiTa TATRIT Xeg BT YA BT | -

Standard of living

SICEESH

Poverty

fRefar

Income

Sy

Age

D
34

Answer Key: D

Q4 : Mixed Economy is termed as co-existence of the following:

farfra srfeaw g & Ug-sifia & FeT S g




A | Public, private and cooperative sectors

i, Sfcll 3R BRI &

Public and cooperative sectors

P (S o wrgwrd 4
Private and Joint sectors
© [ o igem o
D Agricultural and industrial sectors

B 3R Menfes &=

Answer Key: A

Q5 : Which of the following is not a market-environment issue?

9 & 19 1 TR TafaR0 geT eI 2

Customer's Analysis
A [ areet o fazeram
Market Intermediary Analysis
B | o sttt e
Environmental Protection Analysis
© [t se o
Competitors Analysis
P [ el o

Answer Key: C

Q6 : Dispute Redressal Mechanism is tier in Consumer Protection Act

JUHIET TReT Hffas 7 faare fRarur d= W gl

One
A

Udh

Two
B

al

Three
C

ik

Four
D

IR

Answer Key: C

Q7 : Which of the following was privatised first?

fFafefad # @ gauyd feae Foiieo gar 2

MTNL
A
WAT
Modern Food Industries
B = X
Hied B8 e
BSNL
C
EIRSRERU
Bharat Aluminum Corporation Limited
D )
YRA TegHi-aH HIRARRH fafties




| Answer Key: B

Q8 : Tendulkar Committee is concerned with

dgaex wfaf ... A FefRa g |

Poverty Estimation

fRefan sifeam

Cricket

fohepe

Export Promotion

fafa gaed

Fiscal Policy Reforms

D

SIS i GUR

Answer Key: A

Q9 : FEMA was implemented in the year in India

AT YR o Iy o @ forar T |

1998

1998

2000

2000

2001

2001

2008

D
2008

Answer Key: B

Q10 Bharat Sanchar Nigam limited was set up in year .......... under the new telecom policy.

YR TaR A faffes & 9a9 Rear ifa & ol ... 3o & wnfiq fosar mar o

1980

1980

2000

2000

2011

2011

1985
D

1985

Answer Key: B

Q11 Liberalisation does not include:

SERIGUT H FRIId 781 @ -

Liberalisation of economic policies

3nfdfes Hifaat &1 SRt

Encouragement of competition

U 1 UicTg

C | Development of financial market




foxita ToIR} @1 fawry

Major role of public sector

P e & BT UgE YT

Answer Key: D

Q12 Ifsales is Rs. 8,00,000, cost of sales is Rs. 4,80,000 and indirect expenses is Rs. 1,20,000, then the net profit ratio will be:
3R fasha ¥ 8,00,000 , fAshT ST ¥ 4,80,000 3R TRI& 4T ¥ 1,20,000 BT, Y& ATH 3FIUTd T -

15%

15 gfaerd

20%

20 gfa=rd

25%

25 gfaerd

30%

D
30 Ufa=rd

Answer Key: C

Q13 Ideal current ratio is :

3fTeel Id U § -

1:1

1:1

2:1

2:1

1:2

1:2

1:3
D

1:3

Answer Key: B

Q14 Ideal acid test ratio is :

3fTest 3t TR U R -

2:1

2:1

1:1

1:1

1:3

1:3

3:1
D

3:1

Answer Key: B

Q15




Given

2014(Rs.) 2015(Rs.)
Current Assets 5,00,000 3,20,000
Current Liabilities 3,60,000 4,00,000

The decrease in working capital will be Rs.

faar 2 — 2014 (%) 2015 (%)
EER ISR 5,00,000 3,20,000
EE I 3,60,000 4,00,000

1,20,000

1,20,000

2,20,000

2,20,000

3,20,000

3,20,000

20,000

D

20,000

Answer Key: B

Q16 Working capital of previous year and current year are Rs.50,000 and Rs. 60,000 respectively, then the amount of change in the
working capital will be:

Td oY 3R BT TY Bt BRI YTt HH: B(-) 50,000 3R F 60,000 B , A Hraie Goit H uRad Bt AR g1l :

Increase of Rs.10,000

¥ 10,000 B gfeg

Decrease of Rs.10,000

T 10,000 BT HHT

Increase of Rs.1,10,000

¥ 1,10,000 B gfeg

Decrease of Rs.1,10,000

D
3 1,10,000 BT HH

Answer Key: C

Q17 According to ”A Plan is a trap laid to capture the future”

¥ ORI Ufaw & udhe & fore sman ma fioRT 8

Harley

A

g

Newman

S

Terry

[

Allen

D

LS

Answer Key: D

Q18 BIFR was established on the basis of recommendations of........ committee.

St 3T TH 3R Pt RITGT ....... IIHfd Pt RIGIIREN & YR WR ot 718




Goswami

TRarH

Manmohan singh

A g

Rangarajan

Tiwari

D

ferardt

Answer Key: D

Q19 If current ratio is 1.75:1, working capital Rs. 1,12,500 and stock Rs. 82,500, then Acid test ratio will be:
I AT ST 1.75 : 1, SN Yoft 1,12,500 F T ST 82,500 % § Y 37T ULEI01 3FUT SRTI -

1.2:1

1.2:1

2.9:1

2.9:1

2.2:1

2.2:1

1.7:1
D

1.7:1

Answer Key: A

Q20 Budget is prepared before production Budget.
: golc Pl JAE FoIc Y Ugd ST ST g |

Sales

fawmg

Master

HCX

Material

Tt

Labor

D
oA

Answer Key: A

Q21 The definition of "'Wantlessness’ in economics was given by .....................oo.

3R B A en T fagi=ar ot ufuTST CRAREARIEY

Marshall

AT

J.K. Mehta

%, gl

A.C. Pigou

Tt divg

P. Samuelsan

ot SrgerH




| Answer Key: B

Q22 Welfare oriented definition of economics has been given by

SRR D1 ‘B eaTur SMYTRE TRHTT

FERIATSE |

A. Marshall

T AR

Adam smith

TsH Ry

Robbins

RS

A.C.Pigou

D

T i

Answer Key: A

Q23 In
: EISIRE

market condition, the demand of commodity is completely elastic.

) Rufay 7 g ) = qofre SR B 21

Perfect Competiton

qof SR

Monopoly

THIABR

Imperfect competitor

31Ul gl

Oligopoly

P e

Answer Key: A

Q24 The supporter of mixed economy was:

fof3ra arfoaawu & guefe U -

Karl Marx

PIet HTRT

Adam smith

TsH ¥y

J M Keynes

S THHN

Marshall

D

AR

Answer Key: C

Q25 Elasticity of demand is
i Ay

Qualitative statement

TS HU

Quantitative statement

uRAES YT




C | Both (Qualitative & Quantitative statements)

T (O 3R URHTOED HY)

None of these

P

Answer Key: B

Q26 The limits of karl Pearson’s correlation coefficient value are:

el O Gege urics A & TATT 2:

D

Answer Key: A

Q27 Inacorrelation study the results were: yxy=40, N=100, ¥ x* =80, ¥y*=20.The correlation coefficient will be:
U HeHaY 3T & URUMH &2 Fxy=40, N=100, T x* =80, Ty?=20. TEHY U7 R

-1.0

-1.0

0

0

+1.0

+1.0

0.92
D

0.92

Answer Key: C

Q28 The formula for the rank correlation coefficient is:

HIfe JeGeY T0Td BT YA B -

67>

L= N(NZ — 1)

: 6Yd?
T N(NZ —1)

. 67>
T N(NZ? +1)

; 65 d?
T N(NZ +1)

1— 6yd?
N

1— 65d>
N




1+ 6%d?
e

1+ 6%d?
e

Answer Key: A

Q29 Which of the following is not a source of secondary data?

g & o a1 fgdias THal FTAd T8l g 2

Newspaper
A
YHER U
Website
5 EERIES
Observation
C
3faeiich]
Journals and magazines
D
S SR ufeT

Answer Key: C

Q30 Which of the following is not a valid characteristic of normal distribution?

9 & Q19 O g §ed B 3y ARwar e B |

Bell shaped
A
YThR
Asymmetrical
B oo
Mesokurtic
© [ smemam
All are correct
HERGE

Answer Key: B

Q31 The concept of bounded rationality has been given by ......... in Decision Making.

ot & ufefifird fadear &t srauRon . B3R

Daver
A

SR

Drucker
B

gh

Simon
C

GIEGE]

Allen
D

Answer Key: C

Q32 Regression coefficient of X on Y will be:

TH H1 a5 R YT 0T BRI -




Answer Key: D

Q33 If the regression coefficients are -0.8 and —0.2 then the value of correlation coefficient will be:

e 1 UfToTa= 70T -0.8 3TR -0.2 B Y TgHae 0T HIH gHTI -

-0.4
A

-0.4

+0.4
B

+0.4

-0.16
C

-0.16

+0.16
D

+0.16

Answer Key: A

Q34 The word regression in statistics was first used by

ifere! & UTH Usg HTUANT ...... 3 JayyH fHar |

Bowley
A 3
Karl Pearson
B
AR BRSE]
Roberts
C
{ EIEE\E
Galton
D

Answer Key: D

Q35 For testing independence of two attributes, which of the following tests is used?

3 T[UT T TacisTaT b TR0 3 I H | I T TRIeI0T BT TN fha ST § 2




A | Z Test
SIS e
Chi-square Test
B
PHIS-a UI&0r
F Test
C
T TRI&T
T Test
D

< TRe

Answer Key: B

Q36 The need of efficient professional management is high in India because:

YR A P IR T B1 3P 3agehal § Fiif -

Indian economy is developed

A e sreforen ot &
Indian productive efficiency is high
B et s e ot 2
Goal of India is balanced economic prosperity and social justice
¢ YR T AT Gferd SMiier Tgfee ik Iramfore am 8
D There is full employment in India

YR H qUT AR §

Answer Key: C

Q37 concept is not associated with scientific management

....... GYRUN I Uey J Feifd e 2

Mental revolution

A .
AR hifd
Unity of command
B
SR BT Tehall
Time and motion study
C -
Y T4 T S
Method study
D

TEfd 31T

Answer Key: B

Q38 Grape —vine communication is :

YY-gI3- TUIVUT G

Formal
A
=i
Informal
B
TR
Upward
C
Jeamret
Downward
D

ST




| Answer Key: B

Q39 Which one of the following is not a technique of class-room training?

9 & Q P I e Ui Bt doh-iie T8l 82

Lecture

S2REIE]

Group Discussion

g famef

Case study

fUfq s (9 e

Real time experience

P ARdfde AT U

Answer Key: D

Q40 ZBB was first used in 1962 in the country

S St o IIUYH 1962 F ... S H UART fopa T |

USA

quiy

UK

g&

Germany

S

Japan

D
SILIG

Answer Key: A

Q41 Free-rein leadership means:

o A (31 )1 1 &

Centralised power
A Falpd SHRBR
Shrinked responsibility
Complete delegation of authority
¢ HIHR BT ol e
Less competent subordinates
P [omaemmerd

Answer Key: C

Q42 Concurrent control occurs when an activity is :

T foiET S BidT & Sd PS5 -

Completed

EUEICIE

Being planned

R Y e &




C | Still going on

nft g i e

None of these

D

T AP T

Answer Key: C

Q43 Which of the following is not an ethical conduct for professional managers?

ORISR YeiHeh! &g 9 H 9 B A1 e IR T8I § 2

Listen and learn

AT 3R HRgT

Non participative decision making

R yrfierd fofem

Respect of seniors

IR} 1 TE

Maintain the reputation of organisation

D

ST &b TR DI I G

Answer Key: B

Q44 Which of the following is not a example of derivatives?

9 & Q B 1 I BT IR0 L 82

Options
A

fawey

Futures
B

CIRH

Demat
C

e

Swaps
D

&)

Answer Key: C

Q45 Balance of trade receivables is not affected by the following:

IR e U ) g 7 § 1 1 gH1fad T hran g 2

Level of scales

A fashg 1 TR
Number of employees

B | arefatedt 1 s
Credit terms

¢ @
Collection policy

P Tugur Hifd

Answer Key: B

Q46 Which of the following is not a determinant of dividend policy?

9 & § 1 91 i A &1 FuRe e e




A | Legal provisions

B UTay™

Financial position of share holders

Syl 1 fawiiag fRufd

Business cycle

CCNIRECED

Retention policy

P o 451

Answer Key: B

Q47 Which one of the following is not U Shaped curve?

fafoaa # foges am Sl 31eR g 3pfa &1 e giar g

AVC

Tt

AFC

TUG

MC

e

All of the these

D

o g g

Answer Key: B

Q48 The term ‘person’ includes as per Income Tax Law.

3T fAUT & SOR Afdq T A ... gfthferd g

An individual

T Afed

A HUF

% fog sifauorg ufvar

A company

T ST

All of the these

P [ehwaz

Answer Key: D

Q49 P/V ratio =
ITH HIEAT {UTd =

5-V




Answer Key: C

Q50 Skimming pricing is
TS FARAT eI g -

Very cheap

Sgd Xl

Initial high price

IR 31fdh e

Pricing as per market

TR & Y G

None of these

| B

Answer Key: B

Q51 Which of the following is/are example/examples of direct marketing?

9 & @ o9 91 ye fauue &1 3IeEru R 2

Kiosk Marketing

frar® fagua

Tele Marketing

R fauue

Catalogue Marketing

e

All of these

P aaen

Answer Key: D

Q52 Marketing is a process which starts production

fquur e UfehaT ® Sl SACH & ... URPH Bt 21

Before

o

Just after

dechle] URATd

Along with

Y- 1Y

Much after

ggd aG H




| Answer Key: A

Q53 NAV and AMC are mainly applicable for

T U 3R T TH GO ........ & 70 T g g |

Mutual Funds

T S

Stock Exchange

W faf g

Cooperative Institutions

TR TR

Banks

=

Answer Key: A

Q54 Monetary policy is prepared and declared by

Aifge Afa s Ami e Oy ... gRIBI S g |

Govt. of India

HRd WP

RBI

AR o 313

State Govt.

Y WMHR

SBI

D
LSEIREIE]

Answer Key: B

Q55 Computerisation in banks was started mainly on the recommendation of

! B BB TH: e ot Tegfal o fobar T |

committee

Narasimhan

TR

Chore

EIN

Rangarajan

Tandon

D

a‘sl

Answer Key: C

Q56 regulates Regional Rural Banks in India
YR H &g I §p 1 e FATG
SBI
A
SBI
PNB
B
PNB




C [NABARD

NABARD

IDBI

D

IDBI

Answer Key: C

Q57 Which of the following is incorrect for material variances?

Il faerurn & fore g # ¥ o9 91 g 82

MCV = (SQ X SP) - (AQ X AP)

MCV = (SQ X SP) - (AQ X AP)

MPV = AQ(SP - AP)

MPV = AQ(SP - AP)

MUV = AP(SQ — AQ)

MUV = AP(SQ — AQ)

Db MYV = SC per unit (AY — SY)

MYV = SC per unit (AY — SY)

Answer Key: C

Q58 Kirk Patrick's four — level evaluation model includes the following -

fordh Ufeh & TR WG Hedidh Hisd o AiRfrd g -

Knowledge

Rkl

Development

fomr

Satisfaction

wqe

Learning

D%ﬁ@m

Answer Key: D

Q59 was the first development bank of our country.

3T I BT UYH fapr §b o7 |

IDBI

3s ST et amg

SIDBI

Rrssit

ICICT

317$ 1t a1 T 31g

IFCI

D

3MTS TW ¥ 3715

Answer Key: D

Q60 One rupee note in India is signed by

YR B b ST BT Hle GRI gXERA g g |

A | Reserve Bank Governor




RSEECRICEN

Finance Secretary

fort afera

Finance Minister

foeEt

Chairman of SBI

D

T ol 3118 P e

Answer Key: B

Q61 Reason(s) for the fast growth of multinational corporations in the world is/are:

forey & st el & g vl & pRor g -

R&D

3R TUS B

Technological Superiority

CERICABEGI

International Image

RIS B

All are correct

P ez

Answer Key: D

Q62 Purchasing Power Parity theory was propounded by Gustav Cassele in year ............

TRCTd S & GRI Y fekd FHT yeaid ... H gfaurfed gen

1922
A

1922

1923
B

1923

1921
C

1921

1924
D

1924

Answer Key: A

Q63 Correct serial of head of income in Income Tax Law is :

MR AU # 3 & Mh BT HHE |

Salary, capital gain, house property

I , GeltaTy, A et

House property, salary, capital gain

T Ffd, da goiteny

Salary, house property, business

a1, U™ gHfa, a9

Capital gain, business, other sources

D=
STy , T, 3 JIe

Answer Key: C




Q64 Tax is not valid.

PR CeERE

Evasion

A :
SECERI

Planning

IERISE]

Avoidance

o

Management

D
Uy

Answer Key: A

Q65 Certain donations are deductible from GTI under section of Income Tax Act

TSR AT B} YR F Ad B A SN ST TS F Held AFBIA G |

80G

80 ST

80D

803

80C

8o T

None of these

D

T AP T

Answer Key: A

Q66 An assesse resides in his own house the valuation of which is Rs.50 lakh and fair rent is Rs. 1 Lakh p.a. Annual value of house
for the purpose of income tax will be:

TP FHREIAT W & W a1 HhH B gl 8 et T 3 50 aRa 3R 3RId foovman & 1| o a1 g | Hev 1 affis
T PR & I A Bl -

Rs. 50 Lakh

¥ 50 g

Rs. 5 Lakh

RIRRVIRE]

Rs. 1 Lakh

R RIRE]

Zero

D

S

Answer Key: D

Q67 Which of the following is not a head of income under Income Tax Act?

e & & B 1 e SHfFEw 3 3raid o 1 T el R 0

Salaries

ad

B | Interest on securities

gfayfadl R <




Income from other sources

I Iy §

Capital gains

D

Uit ary

Answer Key: B

Q68 While recruiting, employer promotes brand image of organization, which is called

fAgfad BHrd T, Foitadl gRT W16 &1 108 Bfd BT TR H=AT

FHEA g |

Employer branding

e snfogT

Employee branding

HHARY 0T

Organisation branding

1o SIfveT

Manpower planning

b A4 wfed fFaeH

Answer Key: A

Q69 All stake holders evaluating performance of an employee is called

T HHARI ®I Feafy &1 gt fRauial gR1 geaia

degree appraisal.

3 Ui HEaAd g |

45
A

45

90
B

90

180
C

180

360
D

360

Answer Key: D

Q70 Another name of Industrial Democracy is

NI USITda &1 gERT I § .

WPM

Syl Ty

Collective bargaining

e didamoft

Social security

TS GRE&T

None of these

D

STHADIS ol |

Answer Key: A

Q71 What is the minimum bonus as per Bonus Act.

I AR & SR g a9 a1 32




A [8.33%

8.33 Ufa=rd

9.33%

9.33 gfa=rd

7.33%

7.33 Ufa=ra

None of these

D

T A BIE TE

Answer Key: A

Q72 The full form of ESOP is Employee plan.

< TY 311 O o1 1 ¥ Trerg IIERCIR]

Skill option

fpa sifmHE

Stock option

NI

Stock Ownership

Wieh JRIERT

Skill Ownership

ey ——

Answer Key: C

Q73 Job enrichment is

HTf Tgfegavur g | :

Moving to another job with same skill set

A PRI aTe gaR BT H ST

Promotion

et

Transfer

RYTTAR0

Adding task and duties to the existing job

D

gaA S | fharsii Td Saoal &f dgmT

Answer Key: D

Q74 method of performance appraisal uses incidents pertaining to the job.

FrSgTe Heie @t R @7 @ Wi TeTal & v el 21

Questionnaire

PRI Gl

Critical incident

P~ gl

Essay

RS

Grading

gufte




| Answer Key: B

Q75 Formal and detailed analysis of job is called

m%mmmﬁ@wﬁwm%

Job analysis
A o e
Performance appraisal
B e s
Job rotation
© [ o
Point method
D ﬁ@' S

Answer Key: A

AT UATY-19 T oY forad g

Q76 Accounting standard — 19 (AS - 19) relates to

Leases
A t@' 3
Discontinued operations
b [ paid
Intangible assets
© [ e
EPS
P e

Answer Key: A

Q77 Full form of FIPB is Foreign Investment Board.
FIPB &1 YT ¥U Foreign Investment Board %
Packing
A )
Packing
Public
B
Public
Promotion
C ,
Promotion
Private
D .
Private

Answer Key: C

Q78 Recent trend(s) in foreign trade of India is/are :

YR & faezht IR &t 7d9 vafa 3/ uafaa 8

Increase in volume of trade

IR &1 A6 H gt

Changing composition of trade

IR P T A GRadT

C | Multidimensional trade




TESTATH IR

All are correct

D

ot adt §

Answer Key: D

Q79 IRR technique is used for.........
3T 3R 3R THAIE .......... ¥ for vrgaa Bt 8

Dividend decisions

e fofg

Cost of capital

Uoit &1 T

Venture capital

SR gl

Capital budgeting

D

PEICERD]

Answer Key: D

Q80 Which of the following is not a method of Foreign Exchange?

e 4 4 1 fadeh e @t Ry @ g 2

Bill of Exchange

fafg foet

Letter of Credit

Trg T

Hundi

gust

Telegraphic Transfer

D
AR 3{=RU]

Answer Key: C

Q81 The General Agreement of Tarriffs and Trade was replaced by

TI[esh U9 IR TR AT FH I g vfarTfad faar i |

WTO

WTO

MTA

MTA

IBRD

IBRD

IMF

D

IMF

Answer Key: A

Q82 Main Components of foreign currency reserve of our country are:

A A H ISR e HSR S T Ueh © -

A | Foreign currency and gold with RBI




3R 3M7E o ure fa=it g ud %ol

Gold reserves with government

WHR P UG WUl HSR

Deposits with SBI

T &t 3% & UTY SHY

Assets of EXIM bank

D

Ufehr §b b1 uRerferal

Answer Key: A

Q83 Which of the following step should be beneficiary in correcting disequilibrium of balance of payment?

fafeiad & Q YA Sga @ Sramar § GUR 8 B 91 HeH SR I 2

Over-valuation of currency
A
eI D1 ST
Devaluation of currency
B
Hal oI HTHAT
Demonitisation of currency
C
Hal 1 fagidru
No monetary change
D ;
PIs Hitad gRadH g1

Answer Key: B

Q84 Head Quarters of IMF is situated in

3{TS TH U BT YU Sy A fREgI

Geneva
e
Paris
® [t
Manila
© [oettan
Washington D.C
e

Answer Key: D

Q85 International Finance Corporation was established for the promotion of

Rl fae fAm &t =g & T og i S o

Public Sector
A e i
Private sector Investments
P | s o e
Financing of Government projects
e e
Joint sector projects investment
P [igea o deiornon &

Answer Key: B




Q86 Share Allotment Account is a -

Personal Account

HfGrTd QT

Nominal Account

ATH HIF ol 9T1dT

Real Account

IRAfd® @l

Impersonal Account

Dmmm

Answer Key: A

Q87 Which document is not considered in 'KYC' norms?

& a1e W AFEE] | B A1 okg iRferd el 82

Driving License
A S{EEUKSIESR]
PAN card
BB
Pension payment order
C e YA 3G
Bill of Exchange
P | oo o

Answer Key: D

Q88 Staff function are those which ........

FHIR - PRI AG .......

Do not have direct responsibility for accomplishing the objectives of the organization
* e o el o g e 2 g e g T
Are secondary in character
e Ted I UPAF B
Are of advisory character
¢ RERIGRR Ui & B
All are correct
HEEGE

Answer Key: D

Q89 H. Fayol has propounded principles of management.
Td. Hld - T & fRygT=ait &1 fcre foran g1
5
A
5
11
B

11




14

16

D

16

Answer Key: C

Q90 "Shop Management" book published in the year 1903 has been written by

"R B T S 1903 B U RId g8 HT G ¢ |

H. Fayol

Td. Had

William M.Fox

faferaw wH. wre

F.W.Taylor

Th. S, TR

H.Simon

D
LRI ERE]

Answer Key: C

Q91 According to Taylor, which of the following are related to functional organisation ?

TR & IR fharedAd We 9 g 8 @ o Jefda g2

Gang Boss, Repair Boss and General Manager

A TP, SUgRATIS 3R AgIEY®

Inspector, Routine Clerk and General Manager

fters, FrdmpH forftie 3R AETIEYS

Repair Boss and Foreman

SUGRATIS TuT BRAT

Routine Clerk, Speed Boss and Inspector

P FricH fafte, nfaamae ik Fters

Answer Key: D

Q92 Xand Y Theory of Motivation was propounded by

SR & TRy quT aTs RigT= &1 ufare 3 fopa

Mcgregor

AHIR

Herzberg

gotat

Ouchi

33l

Maslow

D

AT

Answer Key: A

Q93 Firms more desperately look for ways and means to defend market share in-

B 3HfYH RIS fRufa & aromR § eroen iR s & forg aneql aut adie! o) AN &-

A | Maturity stage of product life cycle




Jd1E S Ish o1 TRISHAl W

Growth stage of product life cycle

IdIG Sita- Igh &1 [AhT TR

Decline stage of product life cycle

I Sifa Fgh BT gedl g3l &R

All are correct

D

o gl g

Answer Key: A

Q94 Which of the following falls under the secondary market?

fraffad & @ frae! fidas IR & sidvia it fosar ST &

Initial public offerings (IPO)

gt ot

National Stock Exchange (NSE)

S Wby faufon

Issue of new securities with the help of underwriters

SATIThT BT HeTIaT A Fal Ufdsferdl &1 fFriae

None of these

D

T A PIE TE

Answer Key: B

Q95 Hierarchy of needs theory of motivation was developed by

S{TNURTT & SHTIRIH I B UGTIshHdI o RigT= &1 Ufcrara faan

Mcgregor

AHIR

Mcduglos

AHSTAY

Herzberg

goiaT

A.H.Maslow

D

T. T3, AR

Answer Key: D

Q96 Which one of the following is not included in the category of non-probability sampling?

fFrafdRed & @ foae! sramfadr e & afeferd =&t favar s

Snow ball sampling

ELRIEARERE

Convenience sampling

BIEOIEECAT AT

Simple random sampling

Id fer o GTI@ (random) IBCRE]

Purposive sampling

D

IeRgqu e

Answer Key: C




Q97 Random sampling is also known as

CEARCNE R W BT

Cluster sampling

g e

Census sampling

ESUUCIRE T

Probability sampling

PlIBEIRETAE]

Deliberate sampling

D\T-riﬁaﬂﬁ'cmf:r

Answer Key: C

10

Q98 [RankX | 5 3 4 8
: RankY | 3 7 5 9

10

In this the value of rank correlation coefficient will be

RankX | 5 3 4 8

10

RankY | 3 7 5 9

10

T PIfe TgYeY 0T HT HH ERT:

+0.52

+0.52

+0.62

+0.62

+0.42

+0.42

+0.72
D

+0.72

Answer Key: A

Q99 ABC analysis is the popular technique of

3§ 9 fazemo CARGIEAERR DA

Inventory Control

gfera fzror

Chi-Square test

P18 I Tteqr

Monopsony

Uh b guy

F test

D
F TRI&or

Answer Key: A

Q100 Committees are constituted

R o o 3 o

A | For a purpose which is temporary in nature




R I57T & fory

For a purpose which is permanent in nature

R =T o g

Both (For a purpose which is temporary in nature) & (For a purpose which is permanent in nature)

(ST IET o forw) T (Rt Ig =y & forg) <

None of these

| B

Answer Key: C

Q101 Holistic marketing is an approach to marketing that includes

v fquuE;fauuH ue T el o =R

Integrated marketing
A | i oo
Social responsibility marketing
5 e ITReIAd fauur
Relationship marketing
¢ ey 3eTRd faque
All are correct
MR

Answer Key: D

Q102 Succession planning is more relevant to -

ISR Fre Ry &g & defia g

Top level management
e

Middle level management
B [ormerda v

Lower level management
¢ ot ysiy

All are correct
B

Answer Key: A

Q103 As per section 55 of Companies Act 2013, the redemption of preference shares can be made:

FHIOT AT 2013 BT URT 55 F AR YAIBR =0 HT e a1 o Tava 5

Out of profits available for dividend
T forg Iuersy omHi 9§
From the issue of new shares
Py ee——
Partially from available profits and partially from issue of new shares
© [ Srare: Suws el 8 e o 7 o 2o e &
All are correct
° [wras

Answer Key: D




Q104 Monthly pension on retirement is

ARy TR Ut Aiies T Bl 8-

Exempted Income

HIHd AT

Income from other sources

3 YA 3

Taxable Income under salary head

ECERUILERETIEI )

Casual income

D&nao‘m&rrq

Answer Key: C

Q105 Which of the following is a form of proxemics communication?

fgferRad # o9 IHEd TRNT T URSU § 2

Bodily contact

IRING g

Eye contact

EERI S CT

Appearance

el 3Mpfa

Surrounding

D

aRaw

Answer Key: A

Q106 Export — Import (EXIM) bank of India was set up on.

YR Smard Fafa (ufds™) S & RITTET - B P TS|

January 1, 1982

SHa 1, 1982

April 1, 1991

30 1, 1991

March 1, 1970

AR 1, 1970

July 1, 1987

D

TS 1, 1987

Answer Key: A

Q107 Primary focus of Management by Exception revolves around -

OIS GRT UaY BT UTfies Yohd fheres IRY 3R graT g 2

Organising

e

Staffing

TIfthT

C | Directing




fdem

Controlling

Dﬁ'

Answer Key: D

Q108 X and Y are partners and sharing profits — losses in the ratio of 4:3. They admit Z in partnership giving 1/3"4 share in
profits/losses. If Z receives his share from X and Y in equal proportion, the share of Y in profits/loses in future will be -

TR YT TS TR § T 4:3 & U H 1Y g1 died § 9 o &I 1/3 3 S §T Iriert & =nfie vd § afe o
ST TR T T a8 & SRISR SRISR UTWd bRl § df Hiasy § v g1 7 aTs 7 feedn g -

11/42

11/42

17/42

17/42

14/42

14/42

28/42

D

28/42

Answer Key: A

Q109 The first industrial policy of independent India was announced in

W YR B UyH e ifa &t givon gs:

1957

1957

2004

2004

1947

1947

1948
D

1948

Answer Key: D

Q110 The system of note issue adopted by RBI is

YRS Rod §% gRT e Fife &) ugha oo 78 &

Proportional reserve method

U o JorTet

Minimum reserve method

gAdH TG YoITelt

Partly Proportional reserve method and Partly Minimum reserve method

SR[d: TIUTicIp Hg YUITElt a7 3i=I: YAdH S Yorreit

None of these

D

T A DI T

Answer Key: B

Q111 Break Even Point (BEP) is a point where -

A | Profits and losses are equal




1Y Td BT T R &b SRR B &

No profit no loss

TAY BT ® AT 8T

Profits are higher than losses

Y, B A B B R

Losses are higher than profits

S ——

Answer Key: B

Q112 Accounting standards in India are issued by

YRA H i A o) foedl &iTd §-

Central Government
A [t e
State Government
b Y AXPR
The Institute of Chartered Accountants of India
¢ YR AIES TATHR TR
RBI
P [ e feord 30

Answer Key: C

Q113 Advertising expenses done on launching of a new product are treated as_

T I P ISR B 73 2 bl TR fasu oo 99 o §

Capital Expenditure
A
GitTTd g
Revenue Expenditure
B STH g
Deferred Revenue Expenditure
¢ SRYIA T T
None of these
P [eaeiw

Answer Key: C

Q114 Which is not the element of marketing mix?

DI 1 fquur 1207 61 ded T8t § 2

Product
A
Segmentation
B
fayaiaxor
Price
C
qJa
Promotion
D :

Answer Key: B




Q115 If original cost of a machine is Rs.1,26,000 and its scrap value is Rs.6000. what will be the amount of depreciation for II yr by
using WDV method

I T T=AF &1 g AT 1,26,000 F TUT STHT AR T 6000 F g < AfRed 8T T fafdy som wR fgeita adf &t
B &t AR gef-

Rs. 10,800

10,800 ¥

Rs. 11,340

11,340 =

Rs. 15,000

15,000 =

Rs. 14,000

D
14,000 >

Answer Key: A

Q116 Interest on loan be allowed to partners where there is no express agreement between partners to this effect and also partnership
deed does not have any provision regarding this -

E igeR] & a1d 59 3T 6T Dls WY UGN A 81 T IeR] Gog § o 59 I § oI Uray™ = 81 d, JigieR! &
3P gRI e T8 U1 R STt fear S

No interest will be allowed

HIS TS WHT el g

Allowed Interest @ 12 % per annum

12 Ufa=rd aifte aR § =T faar Smem

Allowed Interest @ 06% per annum

06 gfer=rd arftfes e= 9§ sars e smeem

None of these

D

T A PIE TE

Answer Key: C

Q117 Which of the following is not an essential feature of a company?

fafafad & A 1 91 S B STawae A& I8! 22

Separate legal entity

gy JUTH® KT

Perpetual succession

Jfafesd STIBR

Common seal

ST

Unlimited liability

D

S Tl

Answer Key: D

Q118 Calculate the BEP in units from the following figures
Selling price — Rs. 15/unit
Variable cost — Rs. 8/unit
Fixed cost — Rs.14,000
Unit produced — 6000

fafiad TH®! &1 UG oR IHIsal H GHIGwSG fog @1 TUHT BHifoTd:




f3eha Ted 15 % Ul 3obTS, URad-eie dITd 8 3 Ufd 3eTs, R @1 14000 F, I SHISAT - 6000

1500

1500

2000

2000

2500

2500

3000
D

3000

Answer Key: B

Q119 Which of the following goods is likely to have perfectly inelastic demand?

frofefed & fg Ard &1 | guie: daleR 81wl 6

Luxury car

SIRTHGI D HR

Salt

TH®H

Cabbage

gt

Sugar

D

EiRll

Answer Key: B

Q120 In the short run, when the output of a firm increases, its average fixed cost -

BT B, Td T BT IUTG d¢dl § df IUD! [RR AT

Increases

dedl &

Decreases

gedl

Remains constant

fRR s wdt &

First Declines then starts rising

b Ugd IR § o1e & 91 UR™ &l @

Answer Key: B

Q121 In which form of market structure a firm has a very large degree of control over price fixation of a product

FIOR WREH & DIF A U & Th BH 30 IqUIE & Hed FuRor R sifidmay Fa=or wad §

Monopoly

THMIHR

Perfect competition

gul wferafiar

Monopolistic competition

THIIBRIAS T

D | Oligopoly




| sreir

Answer Key: A

Q122 The concept of liberalization, privatization and globalization was introduced first in Indian economy in the year -

YR a1 H SERISRUT, Foiia=0r Td il ST SfaeRuM UyH SR Y -—-- H AR &1 7Ts:

1984

1984

1991

1991

1995

1995

2000
D

2000

Answer Key: B

Q123 Out of following which is not the basis of market segmentation ?

fgferRad o 9 o9 91 SR faufade o &1 enyR T8l §:

Demographic Segmentation

SHife® faufaaszo

Benefit saught Segmentation

gfwsd a1y faufaaeeor

Life style segmentation

SitaTRicl faHfaaes o

Price segmentation

D

T faufdaaor

Answer Key: D

Q124 Penetration pricing is

TR U geu YRR -

Initial high price

URMA® 3=d g

Initial fair price

URfA® Ifd ge

Initial low price

RS A= gy

None of these

D

TTH AP Tl

Answer Key: C

Q125 The main patron of international trade is

RIS IR BT T TR 3 -

IMF

RIS el DIy

B | World Bank

faza 9%




WTO

foza =mUR T

IDA

D

RIS fasprg ¥u

Answer Key: C

Q126 Consumer Protection Act in India was enacted in

YR & IuHTaar TRefur Sifefaw arfed foar mar:

1982

1982

1986

1986

1992

1992

2000
D

2000

Answer Key: B

Q127 Total Revenue =
P SH =

Price x Quantity

el X HIEAT

Price x Income

e X 3

Income x Quantity

ST X HEAT

None of these

D

T DS TRl

Answer Key: A

Q128 Stock Exchange is an example of -

Wy AT $g, T IR B:

Regulated market

aHa IR

Unregulated market

3T IOIR

Spot market

Wie INR

Unorganized market

D&mﬂﬁﬁw

Answer Key: A

Q129 Which of the following is not condition of perfect competition

Praffd 3 & S qof sRf #t amned 78 2




A | A large number of firms

TH B gST TBAT

Perfect mobility of factors

B | et ot oot e

Price is determined by industry not by individual firm
¢ Hed 1 uRUr I gRI e & 1 o sufekord wH gr
D Individual seller/buyer can influence price in the market

ST fashd/ahaT SToIR & Hed &1 THTfad B qehdl 3

Answer Key: D

Q130 The most important function of an entrepreneur is to

Te W6 &1 Halled Heayul HH g:

Innovation
A

BCEERE

Financing
B

IESPERE

Earn Profit
C

TS

All of these
D -

T el R

Answer Key: A

Q131 Oligopoly Competition is charecterised by

SR UfaRuyl &1 A& g

A few dominant firms and substantial barriers to entry
A B THRITC BH 79T JdY TR Heaqu] sTemg
A few large firms and no entry barriers
5 TS IS Y U HIg JaA S T
A large number of small firms and no entry barriers
¢ 3 BIcT BIE BH TUT Bl U= 18T T
One dominant firm and low entry barriers
b T UY@RITel BH quT =g T se

Answer Key: A

Q132 Sample is the representative of ___.

e uRIfR BT &

Universe
A
HHAY T
Investigator
B :
m
Data
C .
HHD D]
None of these
D " ;
T A PIS T




| Answer Key: A

Q133 The SEBI, which was accorded the statutory status in the year 1992, acts as the regulator of -

Jait SR 1992 H AT WU UG forar T o1 izt & U H &1f Rl &

The stock exchanges which came in to being in and after 1992

W faufort s av 1992 I 39% a1¢ ST | 38 8

The stock exchanges which are known as Over the Counter Exchange of India

Ty fAuidm S HRA # "3fiaR § Srdex f[quforal & U & St Sl @

All the stock exchanges of the country irrespective of their dates of coming in to being

Tt g Why faufor 39 919 o1 & 3 471 o 3 e i 7 s

None of the these

D

ST A PIE Tel

Answer Key: C

Q134 Which one of the following is not the form of merger of company?

fFufafaa & T fd Hu=t & dfafer o1 =y T8t 9T S -

Horizontal

HHAA

Vertical

dedd

Diagonal

fode

Conglomerate

D S

Answer Key: C

Q135 Positive perfect correlation is

¢TI YOI HgHa Bidl 6-

+1

+1

None of these

D

T AP Tl

Answer Key: A

Q136 Tools for collecting primary data is/are

I e B Yehierd B P IUBI -

Interview method

e R fafd

Observation method

gD At

Questionnaire method




C veTac fafd

All are correct

P iz

Answer Key: D

Q137 Contingency approach of leadership was developed by

I B! B AHA! faaRYRT A Rid o1 Ts:

Fiedler
A fhser
Likert
® e
Blanchard
M
Harsay
ik

Answer Key: A

Q138 Market concept is

fauur srgyrRon 3-

Production oriented
A H
Sales oriented
b faspargt
Customer oriented
C E
Seller oriented
D [ ; :

Answer Key: C

Q139 “Marketing is delivery of standard of living" is the definition of marketing given by

T S R UeH HRal & [IuuE & e gRUTYT 8, S F--- §RT 1 7S 8-

Philip Kotler
A [ ofm e
William J.Stanton
P | Rm s e
Paul Mazor
C
el HOX
Hansen
gEs

Answer Key: C

Q140 The objectives of financial management is/are _

foig ve & ILRT B2 |

A | Profit Maximization




ATH SHfIHIHDBT

Wealth Maximization

YHI(H) HTABTHBIT

Both Profit & Wealth Maximization

ST, TTY SHTAHTHGRUN T Y () SIfmadeor

D

None of these

T A PIE TE

Answer Key: C

Q141 The NABARD was established in the year

ATETS Bt RITTT a9 A DT

1970

1970

1990

1990

1982

1982

D

1947

1947

Answer Key: C

Q142 Net working capital is equal to-

IS HIN Yol sR1eR gl 8-

Excess of total assets over total liabilities

$d URTRE! &1 $d GIii@l IR E

Excess of current assets over current liabilities

$d IATURA BT Hd IAai@l IR ey

Aggregate current assets of the firm

BH &1 B TR BT IR

D

Excess of total assets over total current liabilities

$d URTTRRN &1 $d daciial iR e

Answer Key: B

Q143 The immediate product of job analysis is

BT AT BT dlepierd IATE & . |

Job Evaluation

HT geatd

Job description

P fgarur

Job specification

Fd fafRrsiaRo

D

Job Enrichment

BT TSl

Answer Key: B




Q144 Which of the following is not considered modern method of performance appraisal ___

frafafad & O o9 It f e geaie- o snyfe fafdy 78 o S

Classification method

grffeeur fafyr

Behaviorally Anchored Rank Scale

fogaERelt T RS IfHTT Wha

360 Degree performance appraisal

360 F&2t AT Feaich

Human Resource accounting method

b Ha S8 oRdice fafdr

Answer Key: A

Q145 Two factor theory of motivation was propounded by

SHUIRYT & fgues Rigia &1 fawr fasan wa:

Herzberg

goiaT

Mcgregor

AHIR

William Ouchi

faferam sma=ht

A.H.Maslow

D

T T ARl

Answer Key: A

Q146 Environmental Protection Act in India was enacted in the year

YR H TaiaR0T TRef0T SffAaH au H uried foam . |

1956

1956

1976

1976

1982

1982

1986
D

1986

Answer Key: D

Q147 The number of elements included in development of marketing mix for services are

Tarsit & forg fauur fsior qaR s # Sftferd fre oM ardl acl 31 Je &

04

04

05

05

06

06




07
D

07

Answer Key: D

Q148 Out of following a new partner could be admitted in a partnership with consent of -

T e BH # Fufifead § feae Igafd A U 98ieRr & Uax fear s Jedr g 2

All existing partners

gaa g IrEier) @

Any of the partner in the firm

®H & foll Wi ArgieR Bt

Majority of partners

BIEANERRERED]

2/3rd majority of partners

D

IR & <I-fdeTE TgHd b

Answer Key: A

Q149 Identity the correct one of the following

= 5 O I8t Y= Jasu -

NABARD was set up in order to provide credit for the promotion of the activities like rural crafts and agriculture.

TS ST TG UTHIOT RIS 7T HfY BT DT F@1al G- & o TR Ue™ & g BT 18 o |

NABARD was set up in order to provide credit to poorer section of rural India.

TTETS BT RITIHT UTHIOT YR B eHaq a7 & Safaqal o1 9Ra gaen UeH - og &1 T8 ot |

NABARD was set up in order to assist banks specially meant to surve rural India.

a1 &} RITOAT fIRd: UTHior YRS Bt a1 FH53 ¥ BTH R a1 ST b TgRIdT R & forg 1 72 ot |

All are correct

D

i adig |

Answer Key: D

Q150 Which of the followings reasons was not responsbile for the establishment of IMF?

RIS GETHIY Bt RITTAT P 1T IR HRON H 5 T I DI 01 HROTGT A1l -

To achive the exchange rate stability.

fafrm @R o RRAT Ut 7 |

To assist the member contries in the postwar reconstruction.

T SN 1 I & SURT GAHATN & JgTIar 7 |

To help the member contries to finace short term balance of payment deficit.

& o= Bt Y 3fafd T YITaH-]Y °1¢ ¥ 59 o o |

All are correct

b i g |

Answer Key: B

Q151 Recruitment selection.
yoff, T ufrar |
Succeeds
A

EIGEI]




B [ Precedes

qdadf

Simultaneous

gHadf

None of these

D

T AP Tl

Answer Key: B

Q152 Which of the following is not a direct tax?

g 7 ¥ P T U HR 8l g 2

Income Tax
A

STD

Wealth Tax
B

YIh

Gift Tax
C

JUGR hY

Production Tax
D

Jdlgd dX

Answer Key: D

Q153 If both the regression coefficient of two series are negative , the coefficient of correlation should be

e &1 gHe QTS & YdGTEA T[UTids HBUMHD B al 318 Tgaad gl -

Positive
A
YITHD
Negative
B
BUTHD
Zero
C
LA
None of the these
D - .
T A PI T

Answer Key: B

Q154 Underwriting commission is classified as

SHFATT =M g fobar Sl &

Capital Expenditure
A

Q}?‘ll d gy

Capital loss
B = ; 5

Deferred Revenue Expenditure
C

R 3T

Capitalized Expenditure
D =

Q}?‘ll day

Answer Key: B




Q155 Which of the following is not covered by Intellectual Property Right

fafafed & 3 o9 91 0 Sfigs Jrer 3iffieR & sidtfa 78t sirdr

Patents and Design

Teh¥d g f&eire

Trademarks and Copy rights

IR g Td HIUREC

Labour industrial Relations

o7 SNl Ty

All are correct

P ez

Answer Key: C

Q156 In the assessment of Income Tax of any assesses, which of the following is relevant

FHRETT & R uRRor & Fofafed § ferget yfiie g »

Income Tax Act 1961

3D AT 1961

Income Tax Act 1962

MR 99 IufaH 1962

Finance Act of concerned assessment year

Tefdra o e oy &1 o ififas

All are correct

P ez

Answer Key: D

Q157 Industrial (Development and Regulations) Act was enacted in the year -

YR Sienfies (e wd g siftifom o & ey fasar man

1951

1951

1956

1956

1977

1977

1991

D

1991

Answer Key: A

Q158 Technique of decision of making is

ol &1 aeie & -

Review of his own experience

Wa & SgHal R JAGAR

Brain storming system

S I fafy

Nominal grouping method

Hichfad TgiH T fafdy

All of the these




D lqmhwdiz

Answer Key: D

Q159 Long term solvency is indicated by

U B BT TN &HdT BT HHIUN G -

Asset Liability Ratio

iy ST 3ruTd

Debt Equity Ratio

0T AT ST

Interest Coverage Ratio

TS YRET 3{JUTd

All are correct

P ez

Answer Key: B

Q160 Cash Equivalent means

APs T T I §

Cash

AbS

Bank

%

Cash and Bank

Highly liquid investment

P ST avd fafan

Answer Key: D

Q161 The definition of statistics "Statistics is the science of estimates and probabilities" is given by -

i BT YR "qirGTes! ST Td graIal 1 i &, P gri i B

Bowley

T3

Boddington

&M

Roberts

Iy

<

Fisher

D

iR

Answer Key: B

Q162 Which of the following is more relevant to primary data?

g o A 1 1 uruftie IHe 9 3ifie Tt §

More reliable

3 gy

B | Quicker to obtain




g ur

Available to individuals and small organizations

it afdd ud B1e WMol & Iudas

All are correct

D

ot e g

Answer Key: A

Q163 Which of the following is/are feature(s) of equity share capital

fafeiaa & o9 2 deror goar 3 Uoht 3 Wefa § /8

Dividend is payable only if company has earned profit

o 9+t 2T B afe U= ary aifvfa Bt '

Dividend become payable only if such payment has been recommended by board of directors and passed by the Annual General
B Meeting of Company

HI At 3T B § 51T AT HUSH gRT URATAd 3TR HU-T 1 aTfties TR0 IHT & UTRd 81 g &

Both, Dividend is payable only if company has earned profit and Dividend become payable only if such payment has been
recommended by board of director and passed by the Annual General Meet up of Company

T (@i a3 § afe St Ay SifSTa SRt 8) auT (@i 9t 3T Bid § o SaTee HUSH gRT URATAd 3R U &
e TR g H uid 81 g% ©)

None of these

D

T A PIE TE

Answer Key: C

Q164 TRIPS(Trade Related Intelleatual Property Rights) and TRIMS(Trade Related Investment Measures) are associated with

fewg(emR Teth Sifge Trer fIeR yauT fowy (smR T fafam amoe ) Jefia @ -

Preston Proposal

U UE 9

Dunkel Proposal

THd UE I

Cheltiah Committee

ElRBIEZEE]

Rangrajan Committee

il E—

Answer Key: B

Q165 'A’ group items in ABC system of inventory control are

T e & T Ren & © A & gl o i@ 7e g g -

Small number of items with large rupee investment
A o Trr o A

Large number of items with large rupee investment
e oo aralt iR 7S

Large number of items with small money investment
R Teudra 3ifie 7

Very high quality items
P dgd 3= T[ura arel 4

Answer Key: A




Q166 Tax management is done:
FR-ySY forar srar |

Before Tax planning

CRAEUITE R

After Tax planning

CRAEDITE R o4

Middle of Tax planning

H-A & e

Never

o s

Answer Key: A

Q167 Which of the following is/are the stakeholder of a company?

fFafafea & Hu & RAeR (R gie) P82

Employees

HHARY

Suppliers

3gfdiaren

Customers

pIcEa

All are correct

D

gl §

Answer Key: D

Q168 Which of the following is/are not sales promotion tool(s)?

9 7 A P17 Iy Yo 1 Iuav 78T 8

News article

AR U3 H oG

Premium

jejitaeste)

Coupons

U

Contests

D Ev——

Answer Key: A

Q169 If the ranks of two attributes in a sample are as follows
Rl1 123435

R2 543 21
Then the rank correlation between the two will be

e < 7o & e & HARS) FHIFR A §
R1

1 2345




R2 54 3 2 1
T & He HHNT TgIwY g1

None of these

D

ERERET R

Answer Key: C

Q170 Globalization enhances the international flow of

YHUSHIHRU & 0 ¥ SRiSia yarg # gfes aal g

Labour

o§H

Capital

oo

Technology

SERICH]

All are correct

P ez

Answer Key: B

Q171 Under Garner vs Murray rule, in the event of dissolution of a partnership firm, solvent partner will have to share the deficiency
of insolvent partner in

MR Td W a0 & SR AeieR BH & faee &1 g= # U7 Y &dieR) Sreer, fiarfer qEier ot &6 & fg
3{uTd H 98 B |

Profit Sharing Ratio

ITH YT 3{gurd

Adjusted Capital Ratio

FHTGISI goit 3rgard

Sacrificing Ratio

ANT AJUTd

None of these

D

T A DI L

Answer Key: B

Q172 Which if the following accounting principles differentiates between owner and management

9 A A B 91 Seie Rigid W vd ydy & Sidk &1 yeRid sears

Business Entity

HTIIRS 3R

Going Concern

EINECIERI)

C | Dual Aspect




ISR

D

None of these

ST AP T

Answer Key: A

Q173 For a normal distribution

T fdavur & forg

Mean > Mode > median

A HIY > dgddh > HH D]
Mean < Median < Mode
b HIT < HYPT < dgdih
Mean > Median > Mode
¢ HIY > HY D[ > dgih
D Mean = Mode = Median

A1 = SgAD = HLDT

Answer Key: D

Q174 Which are the following, as per Hergber’s motivation hygiene theory, is a motivating factor

BolaTl 3 AMHIRU W Rigid &1 3RS da 8

Job Security

A
BT JgR&T
Company Policy
B =
S Bt Aifd
Work itself
C .
S Wl
Interpersonal Relationship
D

TRURS T

Answer Key: C

Q175 Current ratio is

EINERCIRE]

Balance sheet Ratio

3ffes fargT ST

Profit & Loss account Ratio

ST BT W 3UTd

Combined Ratio

[GIEGEGEIS]

D

Income Ratio

3T AT

Answer Key: A

Q176 Which of the following is correct?

ol P T HYTIa R 2

A

Fair wage is higher than living wage




Sferd gt wite aie Aogdl ¥ 3ifte gl 8

Living wage is higher than fair wage

e afg wergdt Ifed weigd ¥ oiftie it §

Fair wages , living wages and minimum wages are the same

Ifad Hoigdt st afe Aeigst auT ~g-aw Hergdt IAH gt §

D

None of the these

T AP T

Answer Key: A

Q177 The phrase 'Payment by results' is more close to

"SITHAT I TS HAT(ARUTHER YTdH)

Time rate wages

Y & HoIGt

Tncentives

JATGH I ST Aogy!

Producttivity linked wages

TROMY

D

All are correct

i g g1

Answer Key: C

Q178 Machine is example of

T IeTeRT ®

Consumer goods

IUHI AT BT

Capital goods

LPEIUCRISE]

Intermediary goods

HeAHS AT BT

D

None of these

ST A PIE TEl

Answer Key: B

Q179 What will be the assessment year of the financial year 2017-18

foxfa af 2017-18 &1 B FeRor o g

2017-18

2017-18

2016-17

2016-17

2018-19

2018-19

D

None of these

ERERET ]

Answer Key: C




Q180 Which of the following measures is not adopted by RBI for controlling credit in India?

YR H Irg a0 s 9 Refa §& gr1 Hafafad # @ feg A= f3fd &1 wai ==t fovar s -

Cash Deposit Ratio

TS ST ST

Capital Adequacy Ratio

Yolt gaftadn srua

Cash Reserve Ratio

TG HIY U

Statutory Liquidity Ratio

P YT R ST

Answer Key: A

Q181 Retrenchment is

F gfaa T Mg g

A denial of employment for a short period

S fat & forg ISR Q 71 BT

A denial of employment for a long period

T gAY & ol TSR I /1 HIAT

A denial of employment forever

Fed & foIT AR § A1 BT

None of these

D

T A BIE TE

Answer Key: C

Q182 Lender of the last resort is

SBI

Local money lenders

D@mﬁuw

Answer Key: A

Q183 Which of the following organizations is associated with the Micro Finance Regulation Authority

0 T @ P17 1 Trre e faeita fAesror mftreseor 9 Tefia 7

SIDBI

Rrssit

NABARD

EIEIS]

C |RBI




AR & 318

IDBI

D

3s St aft amg

Answer Key: B

Q184 Scheduled banks are

Y db §

Nationalised

RURES

Included in the IV schedule of RBI

feord s bt At s g

Included in the II schedule of RBI

Rotd db 1 facita srgge & afeferd

None of these

| E

Answer Key: C

Q185 RBI was established in
feord o Raftre o

1935

1935

1949

1949

1947

1947

1969
D

1969

Answer Key: A

Q186 The competition Act was enforced in the year

feresf aiferfvm o & am gar -

2000

2000

2001

2001

2003

2003

None of these

D

T AP T

Answer Key: D

Q187 Which one is not related with legal environment of business in India?

YR H aHRI & YT aarerul § g & ¥ S Geafdd T8l § -

MRTP

THIRAT




B [FERA

W

Factories Act 1948

HREMT HAFTH 1948

RBI

D

IR & 3

Answer Key: D

Q188 Which one of the following replaced MRTP?

U 9 foom ta 3R & o). &1 ufawimg= feam

Competition Act

gfaegyt sifdfam

FRBM Act

T 3R &1 TH. I an

FEMA

L2

FERA

Pl

Answer Key: A

Q189 A sound economic policy of any government ordinarily entails in it

et ft R 31 Yeg nffe Hifa wmrad: e w82

Welfare of people

SECZSI)

Growth of GDP and national income etc

e TR ITE Td P 31 3T H gfs

Fair distribution of wealth

Tuftl o1 Iferd faarur

All of these

P it Tt

Answer Key: D

Q190 The dividend pay out ratio can be determined by dividing dividend per share by
TSR ATHTRT B fAUTRIT R ATHTRT YT SFUT Y IO b1 S Wbl § -

Earning per share

3ifofd ufa s

Number of equity shares

AT 32 Bt I=AT

Market value per share

TR Hed Ui SRy

Book value per share

D

Qs i vl S

Answer Key: A




Q191 Which of the following is not a ratio for analysis of profitability?

g 3 o I AHEES T & IRy ST U TR § 2

Operating ratio

A BENEISERFRIGE
Net Profit ratio

B & oTH {UTd
Acid test ratio

¢ RS ST SfguTd
None of these

e

Answer Key: C

Q192 The statement of changes in financial position shows

oob & faaor & facdia fRufay weffa ot st 2-

Sources and uses of funds
A o fa e v
Assets and Liabilities
P |t o arfr
Income and Expenses
¢ 3 Td Tg
None of these
P [eaaeg

Answer Key: A

Q193 After the reissue of forfeited shares the balance of share fortifies account will be transferred to

TR =M o GHITHA o UHTd U 3i=N & JId! T /Y gealaiRd g1 -

Share capital account
A pea——

Capital reserve account
b Uoit S @

General reserve account
¢ YA o @il

None of these
P [eaaadd

Answer Key: B

Q194 Which one of the following is not a method of valuation of shares?

FE A I oH o ol & geal 3t (I eT g 2

Asset Valuation Method
A | o
Yield Valuation Method
. Id1G i fafdy
Super Profit Method
¢ Sffeemy fafer




D | None of these

T A BIE TE

Answer Key: C

Q195 Giffen's Paradox as an exception to the law of demand includes

At &1 fRieTyT 1T % Fom & srvare & afdferd &-

Prestige goods
A oot o
Inferior goods
. gfear /1
Complementary goods
C e 1
Substitute goods
P RITATIS HIT

Answer Key: B

Q196 The demand curve, when the demand is perfectly elastic, is

e BT ot e Bt € T o B g -

Vertical
A
qHIdd
Downward sloping
B
I BT SR a1 g
Horizontal
C
qHJA
None of these
D Y -
T A DIs ol

Answer Key: C

Q197 The law of diminishing marginal utility was propounded by

Hed! g8 HTd Iufar &1 fam ufaenfa faar

Prof. Paul Samuelson and Giffen
N iR T e e
Prof. A. Marshall
. TR T, HIRIel
Prof.J.R Hicks
© [0 % o feww
Mrs. John Robinson
P et o o

Answer Key: B

Q198 Regression analysis is a measure of

T faziwur 710 § -

Degree and direction of relationship

Trg= B AET T femm




B | Degree of association

TS dAl D1 AT

Cause and effect relationship

&Y BT HRUI T THIT

None of these

D

T AP Tl

Answer Key: C

Q199 The principle that an employee should be made accountable to only one superior/officer relates to

fecia o HAR! BT ITY IR & T BRI & ufd SraR ST 8 -

Unity of direction
A

[EEREIRGI]

Unity of approach
B =

Ugd 1 Tehdll

Unity of command
C

SR BT Tehall

Centralization
D

CEARCRYI

Answer Key: C

Q200 Planning is an activity which is always

fiier T U fopa & & -

Confines to top management
P s pp——
Pervasive to all levels
| T e
Carried on only by promoters and appointed advisors
Rl mm———— e g
Performed jointly by management and workers representatives
D et o ot SR g7 e & e |

Answer Key: B




